District Old 2015 Test (December) Solutions.notebook June 03, 2019

1. Which number represents 23 million 6 hundred thousand?
23 600 000 b) 23 000 000 600 000 c) 2 360 000 000 d) 23 060 000

23 600 0 0°

2. Which situation is best represented by the integer -14?
-
a) fourteen degrees above zero : Q_
b) depositing $14 in your bank account . *S
N\
c) staying on the fourteenth floor of a hotel
.b\J \ 0‘\

ourteen metres below sea level - "3‘
@ 3¢ ey

3. Which set of numbers are all prime numbers?

a) 13, 13:'19_. 21, 51 b) 9, 13, 13,’1?_.19 c)2,57,9 11 , 7,13, 28, 31
g

l XS 3xS 3x3

4. Find the value of the expression 3+18 + 3 + 5 x2 5'\' \x"s 1-551
) b d
]

. 3« 0 + \0

5. Which number can be read as “4 and 21 hundred-thousandths”?

a) 4.002 1 64.000 21 c) 4.021 d) 4.000 021 q * lo

‘9

0002\
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6. Which product is correct?
a)6.23x5=23.115 @9_7 x7=3479 ¢)137x9=1233 d)8=x079=0.632
G6xS= N Sox\ = 3%
7. Which number represents 66 millionths?

a) 0.000 000 66 b) 0.000 006 6 c) 0.000 66 0.000 066

0 Q00006 4
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8. Between which two months did the baby elephant gain the most mass?

Mass of a Baby Elephant in Its First Year
600 /—4
500 /
- O
300
200 ,.//
0 1 2 3 4 5|8 T 8 9 10 11 12

Age (months)
\® 150 360 a1

Mass (kg)

320
a) 0 and 1 month b) 4 and 5 months and & months d) 11 and 12 months
50kq 0kqg ® ok B oo
0k 0
9. What expression shows the relationship between input and output?
Input Output 3
AW 7 N\ |4
- 2 10 >

3 13 3 n 4 \.\

4 16

5

19 3(.‘)

ajn+3 b) 3n cl5n+ 2 % l‘: .7
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9. What expression shows the relationship between input and output?

Input Qutput
7
10
13
16
19

| e L2 PO =

ajn+3 b) 3n c)5n+2 d)3n+4

10. Which number is the greatest?

a) 3 million 2 hundred thousand @.2 billion c) 500 000 d) 796 000 000

11. Using whole number benchmarks, what is the best estimate for the
product of 6.83 x 57

¢§ = 33
1 @35

a) 30 b) 34.15 d) 40

12. Which number is the least?

.UUU 473 b) 62 ten thousandths c) Xj 1 millionth  d) 0.001 40
O.000Yyny . 026 2 0.0O0l4d
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Kim and her parents went camping and brought along Baxter, their family pet.
While they were putting up their tent, Baxter wandered away and got lost.

June 03, 2019

Kim and her parents asked other campers to help look for Baxter and many
people joined in on the search as the day continued.

Minutes of searching | 10 20 30 40 50 60
Mumber of people 3_ 7 15 31 63 ?
. * -
If the pattern above continues, how ma peo& vf*l‘l@e %cﬂng after 60
minutes?

Ouk'.‘
a) 94 b) 95 d) 130

14. Which set of numbers are all multiples of six?

QS, 24, 42, 60 b) 6, 16, 26, 36 c) 12, 24, 28, 30 d) B, 12, 20, 26

6% bxy \ox Ve
15. Which of th numbers has the most factors?
a) 8 c) 25 ) 27
\X¥ L Ix 25 \x21
vy kb Gxg  3xq
Iy

d
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16. Five friends went to the bottle exchange and received $121.72. They shared
the money equally. Which is the best estimate for each person’s share?

a) less than $20 b) a little over $25 @ little under $25 d) over $30 ’;\JI a
S)hao

17. How many hundred thousands are in 1 000 000 0007 -10 *L

a) 0 b) 1000 @0 0oo d) 100 000 Z.O
-0

1)
|ooo 000 =100 000 o
A\ Y

= |0 000
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Constructed Response

18. What are the coordinates of Point A?
S Y

19. Plot and label these points on the grid to
the right.

Point B (2, 1) and Point C (0, 3)

.

& m om

Y

2 -

r_F

o 1 2 3 4 5 8 7

X

June 03, 2019

20. A skateboard park charges a registration fee of $10.00. They also give private
lessons at a cost of $25.00 each. Complete the table of values.

§y25

Lessons Cost
*\I 0 $10 )
KK 535

2 $60

3 <SS

4 1 14°)

21. What is the pattern rule for the cost of the lessons?

As Yhe \agsons ’u\(feo‘cbn\ )-\'k(

RN) WBn +\0

23)  g502) +\0

L

AM s walt

50 xp +lo
Do+ 10

24) Jo-14=L
lo— 1

=9

Cosh incceases ba*’ls
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22. Write an algebraic expression to represent the relationship between the
number of lessons and the cost of the lessons.

23. How much would it cost you to join the park and take 12 lessons?

24.Evaluate: 16-14 =2

25. Use any strategy you wish to multiply 7.75 = 3
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26. Put the following integers in order from least to greatest.

+4,0,-2, 47,5 ‘5,—-‘1, 0="|._'1

e
an
21, nz\ 225
awm* -
‘ Number of People H Number of Cups ‘ % “’m
| 1 | 5 Y M dn +3
| 2 | 7 SN2
| 3 || 9 v
| 4 | 11 |
S 13
How many people wouhbe present if 21 cups we‘%quired? |
1
28. Use any strategy you wish to divide 0.375 + 5 |-‘
\q
2 3

0.05 !
{0-31s
35

25
-25
o
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